
 

 

3. 
 C = C 

CH3 

COOH H 

CH3 
and  C = C 

COOH 

CH3 H 

CH3 

(A) Geometrical isomers 
 

 

C2H5—C—COOH 

H 

CH3 

or HOOC—C—C2H5 

H 

CH3 

B 

4. (A) CH3CHOHCH2COOH   (B) CH3CH=CHCOOH 
 (C) CH3CH = CHCOCl   (D) CH3—CH = HCON(CH3)2 
 (E) CH3COCH2COOH   (F) CH3COCH3 
 (G) CH3CH2CH3  

5. is a saturated monoester with M.W = 186 
 

F =  CH3 O

CH3

CH3

O CH3

CH3

CH3 G = CH3 O
H

CH3

CH3

O

 
 

H = CH3

CH3

OH

CH3  

I =  CH3

CH3

CH3  

 

J =  CH3

CH3

OSO2C6H5

CH3  

K = CH3

CH3

Br

CH3  
 
6. 

A =  CH3

O

OH

CH3

B = 
CH3

O

CH3

 

 

C = CH3

O

O

CH3

O

H D = CH3

O

CH3

O

H

 

E =  CH3

Cl

CH3

O

F = CH3

N

CH3

O

CH3

CH3
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